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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73T
General Instructions :
(i) & FoT SAvar &
All questions are compulsory.
(ii) & T o TR 7 e
Write correct answer in your answer-book.
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qg - A
SECTION - A [ Marks : 10
(e fam)
(PHYSICS)
1. 5l e # 99" 399 3@ & Y HIF-H1 U0 TR Bl © 1
(A) GHAA (B) S«
(C) 3Fdq (D) IYTHT qll
Which mirror is used as rear view mirror in vehicles ?
(A) Plane (B) Convex
(C) Concave (D) All of the above
2. S F T AT A B, TBLT B 1
(A) EaH | (B) SehIvH
(C) fagaer & (D) SUe &
The colour of sky is blue due to :
(A) Reflection (B) Scattering
(C) Dispersion (D) Refraction
3. =1 & § & Il & WREI ¥ 787 & 7 1
(A) S AR (B) AR Fott
(C) waT St (D) A9 ¥ e 7l
Which of the following is not a conventional source of energy ?
(A) Bio-mass (B) Solar energy
(C) Wind energy (D) None of these
4. = & & fEQ oM@y & SIAES HA-1 © 7 1
() R (B) awe
(C) F™ (D) I
Which of the following is SI unit of electric charge ?
(A) Ampere (B) Volt
(C) Coulomb (D) Joule
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5. Frfafad & @ SIF-A1 This ddqeT 787 & ¢ 1
(A) (B) Freet
(C) faEq (D) &
Which of the following is not a natural resource ?
(A) Water (B) Soil
(C) Electricity (D) Wind
6. WE 37 fRE W W g s 7 1
() feTed (B) uRdrE W
(C) gl W (D) i T
The human eye forms the image of an object at its :
(A) Retina (B) Iris
(C) Pupil (D) Cornea
7. S el & SO d H-A 9 3G 787 erl ¢ 1
(A)  FET ANFAES (B) e ERSiTTEe
(C) T SRS (D) SferireT
Which gas is not released during the burning of fossil fuels ?
(A) Carbon monoxide (B) Carbon dioxide
(C) Sulphur dioxide (D) Oxygen
8. WRA ¥ GMI UM & [T oif¥epas 6 g1 &1 WaNT fopam S & ° 1
(A) CNG (B) LPG
(C) iEen (D) e I
Which fuel is maximum used for cooking in India ?
(A) CNG (B) LPG
(C) Coal (D) Gobar gas
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99 R's § & g@ 'R &1 a1 o1 8 7

(A) HH ST (B) G: IWEM

(C) I =BT (D) Yl a4l
What is meaning of second Rin 5 R's ?

(A) Reduce (B) Reuse

(C) Recycle (D) All of the above

el ot Alifce aterEn TERE W T g Sl

1

(A) T A B (B) e SR &
(C) ordRakid T © (D) 3 & F13 Tl
In any physical or chemical process, the total energy :
(A) increases (B) decreases
(C) remain unchanged (D) None of these
qug —
SECTION-B [ Marks : 08
(v )
(CHEMISTRY)

THEX | UIT S A ST H AW o
Name the acid is present in tomatoes.
B Al H At X dT R Hd 8 7

Why do we apply paint on iron articles ?

T A H T € S A e F @ S ol

Name a non-metal which is liquid in nature.

T o1 M [ B8 AR § e S ol

Name a metal which is soft & can be cut with knife.
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15. 9 & § orHga Afee $E-81 § 7 1
(A) =T (B) Tt
(C) i (D) ® T
Choose unsaturated compound among the following :
(A) Methane (B) Ethanol
(C) Benzene (D) None
16. AgNO, + NaBr— AgBr + NaNO, & ? 1
(A) TS AR (B) ferdiom Aftishan
(C) faferemas stf¥ifshan (D) fareamas sri¥richan
AgNO; + NaBr —— AgBr + NaNO; is a :
(A) Combination reaction (B) Decomposition reaction
(C) Double displacement reaction (D) Displacement reaction
17. U9 § Heede® €99 © ¢ 1
(A) 6 B) 7
€ 8 (D) 9

Covalent bonds present in ethane are :

(A) 6 (B) 7
C) 8 (D) 9

18. THOF A°f & & et § fhe 3B & FAR & ? 1
(A) CH (B) CH,
(C) CH, (D) CH,

Two members of a homologous series differ by :
(A) CH (B) CH,
(C) CH, (D) CH,
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qls - 9
SECTION-C [ Marks : 12
(cftr o)
(LIFE SCIENCE)
19. 79 § g6 Th o H AN & o Hafed o ¢ 1
(A) N g (B) w@&d ¥
(C) S & (D) uRFe &
The kidneys in human beings are a part of the system for :
(A) Nutrition (B) Respiration
(C) Excretion (D) Transportation
20. @H qYo1 % fQ oaeE® & 1
(A) FHE SEAFAES T4 S (B) aFIither
(C) Td 1 Wb (D) IR |
The autotrophic mode of nutrition requires :
(A) Carbon dioxide and water (B) Chlorophyll
(C) Sunlight (D) All of the above
21. 1 & | &N 9a & A& ST G R A 78 8 7 1
(A) SfeiE (B) TS
(C) g (D) e

Which of the following is not a part of the female reproductive system in
human beings ?

(A) Ovary (B) Uterus

(C) Vas deferens (D) Fallopian tube
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22, f=fafed 4 @ 9 aes a1 WO g9+ 8 & ? 1
(A) a1g (B) S
(C) it (D) SYe a4l
Cross pollination is achieved by which of the following agents ?
(A) Wind (B) Water
(C) Animals (D) All of the above
23. 79 § § 3 SER-E #1 FEor Fd 2 7 1
(A) =, g T M (B) €€, S AT WG
(C) Fd, T =T wed (D) 99, A8l a1 TH
Which of the following constitute a food-chain ?
(A) Grass, wheat and mango (B) Grass, goat and human
(C) Goat, cow and elephant (D) Grass, fish and goat
24. 7= & § F-91 wE sFa-FreiEeng § 7 1
() T (B) =
(C) T®S (D) wiRes
Which of the following is a non-biodegradable substance ?
(A) Grass (B) Flower
(C) Wood (D) Plastic

25. 3 Sig N SAfed HED TS P G THED TG § T5d B He § e 39 ¥ 1
(A)  FTHTSH (B) IURH
(C) SeRIERt (D) HiERr

The organisms which breakdown complex organic substances into simple
inorganic substances and mix them in the soil :

(A) Decomposers (B) Producers

(C) Herbivores (D) Carnivores
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26. TR X H I ud q9Eg H1 B EHA T ..o a7 B B 1
(A) T (B) Sftiaet =T
(C) difreR &= (D) THENS qH<=H
Control and coordination are the functions of the harmones and ........... in our
body.
(A) Brain (B) Reflex arc
(C) Nervous system (D) Chemical coordination

27. HER AW H G qd1 A HA-A1 B 7 1

Which is the longest part of the alimentary canal ?

28. &Y # HF-H1 [T o B & 7 1
Which sex chromosome is present in males ?

29. A%y fHEA W Al B 7 1
(A) U (B) ®AGHIS
(C) (D) T & B 7
Spinal cord is protected by :
(A) Cranium (B) Vertebral column
(C) Ribs (D) None of these

30. A .......... % U9 % oM fauarer (faemedt) qerel H Sterd 6 1
Mendal had studied a number of contrasting visible characters in ..............
plants.

5505/(Set : A)/ I



